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02 8323l 120,792 107,472 13,320
O=322<LHA 107,292
QXUEBYE L AsxZelHAL WEHE SX
(ph) 300& x5,00021 122 18,000
QXUEHE X Asx2elHAL WEHES AtH
EX(E21) 1,930& *1,50024 x12& 34,740
QOHABEIY L HAMO#MERAMSKX(SII)
1,930& *1,50024 x12& 34,740
OREEXNE SEAIN L2 L ALZHOEA
FUS 2,152
OXNsXHSE EHO 2ILAl
35,000,000& *43] x10% 14,000
QOUSXUHHSE WEIE =52 1,260
OMHE-TY 2 3
200,000& x1CH+128 2,400
OA&EHl S Xl 13,500
OUSXHBSE i 2 I8 S|
250,000& »12& 3,000
QOUSUHHSE HEA RYZHA S FHH
s X2 600,000 +8CH 4,800
QL EJECT I LTATH FX 2
35,000& »12& 420
QOFREEXNSESXNEIZ Y AH2e RAE=
330,000& »12& 3,960
O=S&I(xHTEH) RAES
110,000& =128 1,320
202 o4dl 7,360 7,360 0
01 = LH o4 1l 7,360 7,360 0
OJI2gRF&H 7,360
@Y MEHE = 20,000&*x2ZFx10L+123 4,800
SEENY HNXA 2 HH3 Fa
0,000& »2H +x64 2,560
206 M= Hl 38,830 38,830 0
01 = Hl 38,830 38,830 0
ONSXHS2HEE A20|5E 2
3,000& *4,000% 12,000
ONSASEHSEH TM HOE F¢
50,000& x40 2,000
ONsSIHsSEHSTE BT 2
2,500& =8, 0004 20,000




SH: DESDY
M NESHA Jlet2=
Sl HYSEHA(DEALSLEH) CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
ONENE=0s S=EE = 79
230,000& 215 4,830
HESHAH (WSHE ) 5,173,131 4,490,642 682,489
CIHSAY|(WEAMNTEELSAH) 1,870,573 1,642,832 227,741
SYHFIX HEQIA(RIIH Q) 1,738,395 1,542,407 195,988
101 @121l 1,738,395 1,542,407 195,988
03 I L2 XNHE % 1,738,395 1,542,407 195,988
OSHFTHIIUEZQ A (2L 14, @& 11) 1,738,395
Q== 1,959,890& x25H x 128 587,967
[ PO 1,959, 890& 25 *500% 244,987
es=2¢ 1,959,890 252 *100% 48,998
@I E =t 1,959,890& 25 *120% 58,797
0L R+ 60,0003 x25H = 12& 18,000
@ EHZAH| 130,000& 25 x12& 39,000
QL EH (FETEHXHE 2A4pH4, EE1)
250,000& 25 6,250
@IESL 27,000
-bif < X+ 40,000& x25H x12& 12,000
- A= 20,000& «52H x12& 12,480
-JRAEZ2 (AR OF O &) 30,000& 7 x12& 2,520
QOXESHHIEXLE 372,600 x7H 43| 10,433
QA AL 21,0303 *25H *30Al 2t x 122 189,270
QO=SU22XS(HE)
168,210 x33| x25%H x 128 151,389
Q52222 (EM . Z2EANE S 5ME)
168,210 23| x23H 58 38,689
[ JEpEa=, 112, 140& x25Y x 10 28,035
Q& E=2 S2AHEL 20,000,000 x5 100,000
L ENEEEEERE
1,546,265,000& *3.06% 47,316
QLI RABEREHZ
47,315,709& *6.55% 3,100
@=01dHz=FLE= 1,546,265,000& *4.5% 69,582
QLEEEREHE= 1,546,265,000& *1.5% 23,194
QOMATNEERE S 1,546,265, 000& *3% 46,388
NEH DE=EHU(AMAHEEAETMLIIH) 132,178 100,425 31,753
101 @121 132,178 100,425 31,753
02 JIEt& E % 132,178 100,425 31,753
OXNEH WE==(6Y) 132,178
Q=22 77,201
-0t 3 1,041,000x6H x12& 74,952
ESEDL RN 74,952 ,000& *3.0% 2,249
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P A o
g HZH (nSerd D)
el H(nSAHSEE3H) (&)
CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
OANUHASETHE SHSEAAE SIHASE(A)

40,000& «123| & =128 5,760
OUSHASLEXUSLRAIAE =2 (Al) 5,000
@=M=X0t2 AMIIZ(Al) 300,000& 128 3,600
O=MEX0E SEAEZ (Al

300,000& 122 3,600
ONNINNEERI ANEE fzwmia(ﬂ
&) 90,0003 «6CH*123 6,480
ONHNLSEEUN SESHASHES
1,700,000& 1,700
NS KNS LE RSB (A)
500,000& =122 6,000
QUSRI MESI SIIRERZ 277,920
-2tk 1,930& %6,0004 x12& 138,960
-8l 1,930& %6,00024 x12& 138,960
0UE SN & 2ERER 64,800
-4t 3003 *3,00021 x33| x12& 32,400
-= & 300& *3,00021 *35| x12& 32,400
O=HFEXNHE PANE ==& 16,380
-2kt 65,0003 x15CH x128 11,700
-8 65,0003 6CH«123 4,680
O=EHFEXNHSE EULEMUIA AIER 9,600
-2tk 400,000& 123 4,800
-8l 400,000 x12& 4,800
Q@CHAUNENZN ==
1,000,000& »12& 12,000
@il A HO0IE Hal 1,500
-4t 500,000& *1CH*13] 500
-8 500,000 *2CH 13 1,000
Q@UEHE &AM ==+2 1,000,000& 123 12,000
QOUHZ MEX 88 SINLF ==2 3,000
OUANH HY HE3HE AMEZ (L)
1,000,000& 12 12,000
O A& ZEHl s X bl 219,561
O=H=ZXNRASAIAEIIIEI(Al)
2,000,000 »20CH 40,000
O=EHFIXNRASZA AL ST 22| H L (Al
1,924,000, 000& *5% 96,200
@2 DA2)e MNHEMU SKE=(Al) 5,000
O SANLAILAE ST 22l(Al)
73,335,000 x12% 8,801
O=AE SHFEXN HEANLE RAUES 39,900
-2kt 2,850,000 »8CH 22,800
-89 2,850,000 =6CH 17,100
@)=Y 2 E8I |FA2e 12,000
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SH: DESDY
HM: HY2HAH (DS CHE D)
Crol: D2 2BI (REAL S H) CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-2 A 500,000& x12& 6,000
-4 & 500,000& ~12& 6,000
QRSN T2 SRS (24
250,000& »2& 500
OFEHXNUEHE UWERAIHRH A2 (HA)
1,330,000& x12& 15,960
O fIttsg T2 AHE(H
&) 100,000& = 12& 1,200
O XH &k gHy| 86,400
@I {22y 86,400
—2H A 4,100,000 x12& 49,200
-9 & 3,100,000& ~12& 37,200
202 04| 76,600 68,400 8,200
01 2LHHI 76,600 68,400 8,200
OEYFEX QI/AEXNY NS
20,000 6H *x103| x 128 14,400
OUWNESUHENH e nNEsAs FNEH 8,400
OuWS A2 HAXX BIX 0
60,000& *103| *6H 3,600
ONg& s+ g4 7,000
ORI XS T2 Xb = A 6,000
@ 2 At 3,000
[ IS 3,000
OSEHFEXNANT=HH 37,200
@ 24t 100,000& x16H x12& 19,200
[ IS 100,000& 15 x12& 18,000
405 Ko SHI 90,340 34,800 55,540
01 HatL S =3 S| 90,340 34,800 55,540
OREFEHME DEANLS SN24 I 7Y
(Al 38,500,000 =1CH 38,500
OEYFEXN} SHE5XE 2 48,000
@ 2 At 24,000,000 =1CH 24,000
[ ISR 24,000,000 = 1CH 24,000
OUPSHHE 2l Al 3,840
@ 24t 120,000& ~ 1694 1,920
[ IS 120,000& =164 1,920
04l 51 Hl 28,561 51,255 N 22,694
OlHIHI(REAILEE S H) 28,561 51,255 N 22,694
0dl 81 81 28,561 51,255 N 22,694
801 Ol Bl bl 28,561 51,255 N 22,694
01 etal byl 28,561 51,255 N 22,694
O ol bl bl 28,561




